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Physics

Mr. Gabrielse


Name: __________________
Date: ___________________
Using Significant Digits
Write the number of significant digits.  
	Ex: (0 pt) 703.0 A ( 4
	1. (1 pt) 0.005,400 mol (

	2. (1 pt) 5,600 μA (
	3. (1 pt) 89.543 kg (

	4. (1 pt) 45.00 · 1034 s (
	5. (1 pt) 5,056,300 g (

	6. (1 pt) 105.0 N (
	7. (1 pt) 95.0540 A (

	8. (1 pt) 0.005,65 kg (
	9. (1 pt) 93,000,000 μK ( 


10. Fill in the Table (1 pt per box)

	Measurement
	Number of Significant Digits
	Round to 3 Significant Digits
	Round to 2 Significant Digits

	123.45 cm
	
	
	

	100.00 ks
	
	
	

	1,446,000 kg
	
	
	

	8356.90 mol
	
	
	

	0.000,396 A
	
	
	

	40.318 m
	
	
	

	1.000,0 · 103 N
	
	
	

	0.002,300 pA
	
	
	

	3,000,000,000 K
	
	
	


Do the math and round your answer to the correct number of significant digits.
11. (1 pt) (6.92)(7.9) = 
12. (1 pt) (8.245)(9.00) = 

13. (1 pt) (0.19)(3,600) = 

14. (1 pt) (0.0541)(0.03) = 

15. (1 pt) 
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16. (1 pt) 
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17. (1 pt) 
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18. (1 pt) 
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Complete the following unit conversions.  Use the correct number of significant digits.
Ex: (0 pt) How many centiamperes is 1.3 nA?
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Note: I used 1.0 (instead of 1) since 1.3 cg has 2 significant digits.
19. (3 pt) How many centigrams is 0.050,30 mg equal to?
20. (3 pt) How many kilometers are in 0.40 Mm?
21. (3 pt) How many grams is 91.0 kg?
22. (3 pt) How many meters is 0.009,050 μm?
23. (3 pt) 5.72 pm is equal to how many meters?
24. (3 pt) 1.50 · 108 A is equivalent to how many kiloamperes?
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